CRYPTOQUIP
TGYS XPK TZLS BPQYPSY AGZA

Z CZLAUIKHZL SZSSX CZQCYLB
APAB APP QKIG, UB AGZA Z

BCPUHYL ZHYLA?

Yesterday’s Cryptoquip: IF A SHOOTING STAR
IN THE SKY MEASURES THREE THOUSAND
FEET LONG, I'D SAY IT’S A KILOMETEOR.

Today’s Cryptoquip Clue: S equals N
The Cryptoquip is a substitution cipher in which one letter stands for
another. If you think that X equals O, it will equal O throughout the puzzle.
Single letters, short words and words using an apostrophe give you clues

to locating vowels. Solution is by trial and error.
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